SR ZT7E

SH2E3F/5H
JIE {3z K4 OUT | I N |[#BX|H D | NET | &
1 bt fE 41 49 90 224 | 67.6
2 =i {EE 43 44 87 16.8 | 702
3 HEH BB 40 41 81 8.0 730 | BGE
4 i KR 40 49 89 152 | 738
5 MHE HEE 47 47 94 200 | 74.0
6 X FEEE 43 47 90 16.0 | 74.0
7 MR FF 46 50 96 216 | 744
8 FE 15X 45 52 97 224 | 746
9 Tk B 48 55 103 | 272 | 758
10 A 42 48 90 136 | 76.4
11 BalEp 1IE— 39 45 84 7.2 76.8
12 B =E/\BR 47 45 92 152 | 76.8
13 A IEif 43 42 85 8.0 77.0
14 18R #i1T 46 48 94 168 | 77.2
15 FEE F— 44 47 91 136 | 77.4
16 F 8 FE 42 41 83 5.6 77.4 NP
17 IELVNEE 3 42 46 88 104 | 776
18 Kig £8 43 42 85 7.2 77.8
19 A3 PUER 41 53 94 16.0 | 78.0
20 —TRK —[ 40 55 95 16.8 | 78.2
21 MR S 48 57 105 | 264 | 786
22 B BiE 44 45 89 104 | 78.6
23 =H JIE— 42 51 93 144 | 786 NP
24 AR FHE 42 49 91 120 | 79.0
25 BE BE 47 53 100 | 208 | 79.2
26 R"K E— 40 50 90 108 | 79.2
27 =k BRE 45 55 100 | 200 | 80.0
28 TER BREF 42 54 96 16.0 | 80.0
29 UBRE  FE 50 51 101 | 208 | 80.2
30 - N; 41 49 90 9.6 80.4
31 ¥FH #H— 42 49 91 104 | 80.6
32 fE A 48 52 100 | 19.2 | 808
33 EH 7= 48 54 102 | 208 | 81.2 NP
34 XEF FHKE 46 48 94 128 | 81.2 NP2
35 5 BE 44 42 86 48 81.2
36 HE FIE 47 43 90 8.8 81.2
37 B =& 44 50 94 120 | 820
38 =% IESF 42 48 90 8.0 82.0
39 G = =" 48 49 97 144 | 826
40 M shE 54 56 110 | 272 | 8238




41 KL #L:A 44 51 95 112 | 838
42 WHE & 45 54 99 152 | 838
43 T8 fEX 49 56 105 | 208 | 84.2
44 WA =— 53 53 106 | 216 | 844
45 Eik — 47 51 98 136 | 844
46 ME BEF 51 59 110 | 256 | 844
47 b 21T 51 52 103 | 184 | 846
48 kg #ih 44 48 92 7.2 84.8
49 EH Bsh 44 52 96 112 | 848 | NP2
50 Elg &t 45 51 96 112 | 8438
51 A 46 55 101 | 16.0 | 85.0
52 A BX 46 51 97 120 | 850
53 MAR BEA 44 57 101 | 16.0 | 85.0
54 RE &R 47 50 97 112 | 858 NP
55 wHr F 47 50 97 112 | 858
56 SR B4 44 58 102 | 16.0 | 86.0
57 BB A 44 50 94 80 | 86.0
58 AL X 54 57 111 | 248 | 86.2
59 =&E e 44 52 96 9.6 86.4
60 kg FZ 52 58 110 | 232 | 868
61 XKH B 56 60 116 | 288 | 87.2
62 IRk = 47 53 100 | 128 | 87.2
63 Tk BIE 48 54 102 | 144 | 876
64 BEAR M=E 42 52 94 5.6 884 | NP2
65 ZE FA 53 58 111 | 224 | 886
66 JE EiX 57 60 117 | 280 | 89.0
67 BN =i 50 51 101 | 120 | 89.0
68 O FSF 48 51 99 9.6 89.4
69 hE R 49 63 112 | 224 | 896
70 FiE = SHF 54 62 116 | 256 | 90.4
71 i&E XE 52 69 121 | 288 | 922
72 KPF EE 57 61 118 | 256 | 924
73 2iE BS 52 59 111 | 176 | 934
74 RZE M 59 54 113 | 184 | 946




